Efficiency vs dr

x 0.05
J
9.045

—=— DQM_CKF_TTbase

.| —— DQM_CKF_TT_retrainOldFiles12!

1072

[ Efficiency vs dr (track,jet) |

5_v2_prelimWPM_epoch3

107

1
TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

Vs

Ratio
N

0.95

=
S
w

Efficiency vs pu

1072

-1

1
AR(TP, jét)

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

0

................................................

......................................

.....................................

_;;;+++.§+.+f+_+§?+_+_+_+;+ ##;#_ }
N

i

FRVS)

Ratio

+1]

]
i

o

1

093630 40 50 60



	Contents
	Page 1


